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 — , 
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. , , 

, , . ( . 1.1, , ).

. 

, S

. 

, 

, Ts ( . 1.1, ). 

, 

, , . 

, 

 ( . 1.2). , 

, . 

, , 

. 

 -  ( . 1.3 ):

                    P(t) = Psin( t + ); P(t) = Pcos( t + );                     (1. 1) 

 — ;  — , 

 2 ; ( t + ) - ;  - ;  – , . . 

: 

                                                       (1.2) 

      , fp = 1/Tp , 

. 

: , , 

, , . 

.   . 1.3, 

,   



r . 

W = -r 2, , 

                       P = - M W  = r 2                                      (1.3) 

, r

, 

( t + ). , 

: 

                        =Psin( t+ );  =  cos( t + )                       (1.4) 

, , 

, /2. 

,  (1.3). , -

, 

,  

. 

1.2. 

: 

      1. 

 ( , - . .). 

     2 . , 

:  

                                Nmax(t)<                                        (1.5)

Nmax(t) — , , 

;  — , 

, , . 





1.3. 

 ( ), 

. 

,  

. 

, , 

. 

, , 

, 

. , , 

 ( , .),  

, 

. , 

. 

, 

, , 

, 

. 

 1.3.1.  W, 

 36 (q = 0,7 / )  2 

 7 . 

. 

. , ,  50 

, . , 

, 

, . , 

, , 

: , 

. , , 



. , 

(

), , , 

, , 

 ( . 1.4). 

 1.3.2.  ( . 1.5), , 

,  — 

 « »,  . 

.  1.3.1 

 ( . 1.5 ).  « » , 

         EI,           

(EI = ). : 

 ( . 1.5, ). 

 1.3.3. , 

, . 1.6. . 

. 

x ,

 - , 

. , 

W = 2.

 1.3.4. 

, . 

. , 1 ( . 1.7), 

, , 

. 

 1.3.5. 

, . 1.8. 

2. 

     . 

, .  — 

, .  



     -

, . 

P(t) ( . 2.1). 

t : 

1.   Q = mg =  ; 

2.   P(t); 





      3. 
4. ,     - ,  - 

, , , 

; g = 9,81 / 2.

, y = 0, 

: 

 + (  + ) -  - P(t) = 0,   

:                                        +  = P(t).                             (2.1)

2.1. 

 (2.1)  P(t) = 0, 

: 

             ,   :   =   .                                  (2.2) 

. 

: 

   =  1 cos t +  2 sin t ,                              (2.3) 

 1  2 - , 

: 

 t = 0,     = 0  -  ,  V =V0 — . 

 (2.3), : 

y =  0 cos t + ,                             (2.4) 

 -  (

    2   ),  

                                                                                                            (2.5) 



                                            ,          .         

                    ,    1 =  sin     

 2 = cos , : 

     =  sin( t - ) .                            (2.6) 

 (2.6),  (2.4), , 

  ( . 2.2, ).

:  

                                       =   - ;                 (2.7) 

                                     tg  =    ,                                                                (2.8) 

          –  , ; 

                                     T=   - .                                     (2.9) 

             

n – , : 

                    n=60/T = 60 /2  =  30 / .                                    (2.10) 

2.2. 

 (2.1) , 

F = -b , P(t) = 0

:  

                                               + b  +  = 0,    

                               + 2  + 2y = 0,                                   (2.11)  

     : 

y=e- t(C1 cos 1t + C2 sin 1 t),   

: 1 = ,    :

                             y= ae- t sin ( 1t + ).                              (2.12) 

  (2.11)  :  2 = /b    2 =  / .



, , 

: 



y=-e- t(y0 cos 1t + sin 1 t).                       (2.13) 

, , 

. 2.2, . 

2.3. 

, , 

, 1= 1 = , 

 ( .  2.12). 

 2.2  2.5 . , 

, , 

, 

,   

, . 

, . 

.  ( ) E

    = E /

     , 

, EJ , 

11 . 

 2.3.1. , 

. 2.3. 

.  2.2,  =  , 

 - 1 – 

, , 

.  «1», 

 ( . 2.3. ),    «2»  «3» , , 2

3 ,   2 2   3 3 , 2

3 – . 

 «0» , 



, 

. 

    

0=0, : 

                                         - 11( +b) + 2 2b + 3 3d=0,  

                             ,          11 =( 2 2b + C3 3d)/(a+b),  

2 3 : 

                                          2 = b / (a+b)         3 = d / (a+b). 

2 3 11, 

                                          11 =( 2b
2 + C3d

2)/(a+b)2.

     

    

, :  Ai=0. 

     

                                          . 

    2 3 , 11, 

. 

    : 

                                     ;

                                   T = . 

      2.3.2. , 

. 2.4. 

. , 

.

. 

3 5 , 

  3 = 2/3, 5  = 1/6, : 





                                               = = ; 

                                        =  = = 0,125 . 

 2.3.3. , 

. 2.5. 

.  2.5. 

11 =  , 

 =  = . 

EJ = 2 104 2  = 500 , 

=52,2 -1 ,        =  = 0,12 . 

 2.3.4. 

. 2.6. : EJ = 6  104  • 2,  

1 = 0,2 . 

      . 11

11= .    . 2.6. . 

11 = . 

     : 

 =  =717 c-1;      T= 0,0088 .

 2.3.5. , . 2.7, 

. 



2.4. 

. 

 (2.13) 

            y=                    (2.14) 

, ,  = 0  = , 

           y = sin t .                   (2.15) 

 =

  . 

: 

1. S ; 

2. ; 

3.

                                                                                  (2.16) 

4. , 

; 

5. , Q , Nmax , S, 

S  ,

, S.

        ii =                                   (2.17) 

6. , Qmax, Nmax , , 

; 

7. ,   





 ( , , . .), 

: 

                         max = max E/                                 (2.18) 

:  max — S;  - 

.

 2.4.1.             «2»  

( . 2.8)         S,    1 = 2 ;  2 = ;    = 50 ;   S= 100 ; 

C = 2. 104  / . 

. 

: 

                                            =  = = 13,33 c-1

       «1»: 

                                           y1,max = = = 0,15 . 

 «2»: 

 . 

 2.4.2.  «2» 

, 

. 2.9. ,    1= 2 ;  2 =3 ,   = 50 ,  EJ = 2 105 2,  

S= 100 . 

.  

  

 «1» 

 , 



 «1», S ( . 2.9, ): 

                        11 =   ,     =   

,  «2» 

. 2.9 :

    

:         

                                              1627  0,375  = 0,0061 , 

,max = 1627 3 = 4881  = 4,881 . 

 2.4.3. , 

      . 2.10,          S, :  1=2 , 2 = 3 ,  = 2 , 

 =50 ,  = 1 10-4 2,  =2,1  1011 / 2, S =100 . 

: 

 =  =  = = 183,3 -1. 

 «1» 

1,max = =  =0,010911 ( ). 

 –  «2» 

= 2,max = 1,max = 0,010911 2/(2+3)=0,00436 . 

, 

,max =  E  /  = 0,00436 2,1 1011 /2= 458260  / 2.

      2.4.4. 

«2» , . 2.11. 2.12, S.

: 1= 2 ; 2= 3 ;  = 50 ; S = 100 ;  = 105 / ; EI = 2,1  106  

2. 



       2.4.5. 













 1-1 S , . 

2.13,  2.14,           :    1=  2 ,  2 =  3 ;  = 100 ;   S = 50 ;   

EI = 1,1 106 2. 

 2.4.6. -

S , . 2.15,

:  1 = 2 ;   2 = 3 ;    =100 ;   S = 50 ;   = 2,1  1011 / 2;   

 = 2  10 4 2. 

2.5. 

t  «n» 

 S,   t, 

            y =  .                 (2.19)

    = =   , — . 

  

t= =  . ymax  (2.19) 

Si , 

  ymax . 

, . . 

Ts = , 

 «n» 

                                       t = (n-1) T+ = T[(n-1)+0,25]

                                           ymax =   .                             (2.20) 

, sin t = 1. 

     (n )

                                  ymax=            ymax=B1  .                      (2.21) 

     1 . , , 



: 

   = 0,025;        ymax =13,35 ; 

  =0,05;            ymax =6,88 ; 

=0,10;             ymax =3,7  .

, . 

, , , 

, 

. 

 2.5.1. t = 0,7 , 

: 

S1 = 10 ;  S2 = 30 ;  S3 = 20  ,        t1=0, 

t2 = 0,2 , t3 = 0,5 ,      = 60 -1,    = 100 ,   =0,1. 

. 

, 2.19 

= 

=

+ = - 0,0025 . 

       2.5.2. 

   max . 

. 

 (2.19) 

, . 

 S1 = 10 

t = 0 + 0,25T =  = 0,02618 . 

     y1,max =  =    

= 10e-3 0.02618sin60 0,02618=0,0015 . 

  t = t2 +  = 0,22618 . 



 S2=30 

2,max = + =  

= [10 0,977+30 0,924=0,0054 . 

  t = t3 +  = 0,52618 . 

  S3=20 

2,max = + 

        + =   

        = [10 0,206 0,154+30 0,376 0,66+20 0,924 1=0,0043 . 

     

                                                     max= y2,max =0,0054 .

 2.5.3. 

            S = 20 ,        Ts  = ,    

=50 , = 30 -1, =0,1. 

. 

.  (2.20), : 

ymax   =  + =     

 [0,493 + 0,675 + 0,924] = 0,0279 .

2.5.4.  (ymax) , 

, S = 20 , Ts = T,  = 30 -1, 

 = 50 ,  = 0,05.  

.

 (2.22), = 0,05, : 

                              ymax=6,88 = 6,88 =0,091 .

 = 30 -1  0,091 . 

t:      =  0,091 sin 30t.



, 

,  Mmax, Qmax Nmax , , 

. 

 2.5.5.  1—1 

, . 2.16, 

   S = 20 ,           Ts = T,      1 = 2 , 2 =  3 ,   = 50 ,  

EJ = 2  106    • 2,   =0,1.

. 

= = = =77,5 c-1 , 

  11=   ( .2.16. ). 

   ymax =  + =  

 [0,493 + 0,675 + 0,924] = 0,011 .  

     

. 2.16 . 

     , , 

,  : 

                                                            11 =  max

 = max/ 11 = = 3300 ( )=3,3 . 

 1—1 

                                Mmax=P max =3,3 2 = 6,6 . 

2.5.6. t = 4,0 

 «2» , . 2.11, 2.12 

      S = 20 ,           

t1 = 0,8 , t2 = 2,1 , t3 =3,87T, : 1= 2 , 2 =3 ,  = 50 ,  = 1 105 / , = 0,05.



 2.5.7.  2.5.

 «2» , . 2.11, 2.12.

 2.5.8.   



 1—1 , . 2.13, 2.14,

     S = 20       Ts = ,   :   1= 2 ,   2= 3 , 

 = 50 ,  EJ =2 106 2, = 0,025.  

 2.5.9. 

, . 2.15. 

      S = 20     

  Ts = , : 1= 2 ,  2= 3 , =50 ,   = 2,1  1011 / 2,  =2 10-4 2, 

= 0,025.  

2.6. 

: 

                                            +  b  +  =                                         (2.23) 

. 

 = 0 +  (2.12), 

0 = - t sin( 1t + ), , 

 [4] 

                                         y = , 

. 

,  = 0   1 = ,

                                    y= asin ( t+ ) + . 

t = 0, y0 = =0,  :   = = = 0. 

:  

                                                 y = .                            (2.24) 

 2.6.1. ,

                





( . 2.17, ). . 

. 

                                 y= = (1-cos t).                                  

 = * - ,

( . 2.17, ):

                       = *(1 — cos t).                                (2.25) 

* . 

max = 2 *. , 

. 

 2.6.2. 

, ( . 2.18, ).

. 

. 

t < 

                                1= (1-cos t)= *(1 — cos t).                               

t = /2 =  ;   1 = 2 * 

t > T

, . .: 

2 = = [(1-cos t)+(1-cos t)]= 

=2 *(1 — cos t).                                 

t =  T = ;  y 2 =4 *. 

 2.18, .

 2.6.3. 

,  T/2 ( . 2.19, ). 

.  

.

t < T/2 





                                1 = = *(1 — cos t). 

t > /2 

, . .: 

1 = =  [1-cos t+1-(-cos t)]= 

=2 = *. 

. 2.19, . , 

t = /2, 

. 

 2.6.4.  (

) , . 2.20—2.30. 

2.7. 

                                       (2.26) 

, b/M= 2  , /M = 2, P/M = *,

        + 2  + 2  = * sin t                                  (2.27)

 - 0 +    (2.12), 

,  ,

, : 

                       = sin ( t- ), 

:  — , . 

 (2.27), 

 « »

                             = .,                                               (2.28) 













                                .                                                      (2.29) 

  = /  — ; =   - 

;  = 2 / . 

 :     = , 

:                                             =                                       (2.30) 

.                      

,  = 0, 1= , 

                  = asin( t + )+ sin t                    (2.31) 

 = — , 

             =1/ .                            (2.32) 

    , 

   0,85 <  <1,15 ,  

(2.30).  

, 

                             =  ,                                             (2.33) 

. 

   ymax =  =  = = 3 ii  .                     (2.34)

,  , 

, 

« » , 

: 

 , 

Mmax = , 

Qmax =Q , 

Nmax =N , 



                                          max = .                                 (2.35) 

     

: 

1.  —  (1.3) 

 ; 

2. ; 

3.  (2.30)  ; 

4. y ,, ,, Q ,, N ,

        ; 

5.  (2.35) , 

; 

6.

                = max sin t. 

 2.7.1.  1  2 

 « »  , . 2.31

       P(t)  =  sin t,   :    1 =  2 ,    2 =  3 ,     = 50 ,  

EJ = 2 105 2,    =0,1;    = 500 ;    =18 -1. 

. 

                                        . 

      =  = 18/16,33 = 11,02. 

.      . 

: 

                                                   = 1,45. 

 2  = 500 

2, = 21= = 500 =0,0019 ( ).

  « »   

, = ,
2= 500 ,3= 1500 ( ). 















y2,max= 2,  = 0,0019 1,45 = 0,0028 ; 

  ,max = ,  = 1500 1,45 = 2175 . 

 2.7.2.  2 

,  2.32, 2.33      , : 1

=2 , 2= 3 ; = 50 ;  = 1  104 / ;   = 0,1;   = 1 ;  = 0,9 ; £7 = 2,1  106 2. 

 2.7.3. 

 1—1 , . 2.34, 2.35

  P(t) = P sin t, : 1 = 2 ,   2 = 3 ;   = 10 ;    EJ = 2 106 2;    = 0,05, 

 = 1 ;   = 0,9 . 

 2.7.4. -

, . 2.36, P(t) = 

Psin t, : 1 =  2 , 2 = 3 ;  = 100 ,;  = 2,1 1011 / 2 ,  = 2  10-4 2; = 0,025, 

 = 1 ;   = 0,9 .

3. 

3.1. 

. 

. , 

, 

. 

.  — , 

. 

 [4]: 

1 11 + 2 12 + ...+  1   + 1 =0;

1 i1 + 2 i 2 + ... + i + yi =0;                        (3.1) 

1 n1 + 2 n 2 + ...+ n  + n =0,

t = 0, 0i,,   (i =1,2, ...., n). 



 (3.1) 

        i = i sin( t + ) , (i =1, 2,... )                                (3.2) 

i   .

 (3.2)  (3.1), 

                                  (M1 11- )a1+M2 12 a2 +…+Mn 1n an =0; 

                    M1  i1 a1 +M2 i 2 a2  +…+ Mn i n an  =0;                      (3.3)

                                 M1 n1 a1+M2 n2 a2+…+(Mn nn – )an=0, 

= 1 / 2 —  , 

.  (3.3) :  -  , i = 

0, ;  -  , 

, : 

                   .             (3.4) 

     (3.4), , 

. , 

(3.4) - , . 

,  (3.4) 

.  

                1 > 2> ... > n ,                            (3.5) 

                1 < 2 <.... < n ,                            (3.6) 

 ( . 3.1). k

                 yik = aik sin( kt+ k), (i, k = 1,2,... n)            (3.7) 

 (3.1) 

                            yi = sin( kt+ k).                            (3.8) 

 (3.4) 



ij , 

                       

i = 1 ( i= 1,2 ,  ... ), yi

(i = 1, 2,... ).

,  = 2 

: 

                 ( 1 11 - )( 2 22- ) – 1 2
2

12= 0                      (3.9) 

: 

          1,2 = [(M1 11+M2 22) ±   ,       (3.10) 

1,2= . 

 (3.8)  (3.1) : 

y1 = a11 sin( 1t+ 1) + al2 sin( 2t  + 2);

                        2 = 21 sin( 1t  + ]) + a22 sin( 2t+ 2)                     (3.11) 

y1 y2.

3.2. 

 (3.8) 2 alk   , 

 (n2 + ) , yoi, 

t = 0 (i = 1 , 2 ,  ... )  2 .

.  (3.3) -

, . 

ik

 (3.3) : 

(M1 11 - ) 1k+M2 12 2k +…+ Mn 1n nk = 0 

                            M1  i1 1k +M2 i2 2k +…+Mn in nk = 0                          (3.12)

                                  M1 n1 1k + M2  n2 2k +…+ (Mn nn  – ) nk = 0, 

 (k =1 ,2 , . . . ).

, 1k = 1. , 



                                        ik =    ,  (i, k =1,2,…n)                                           (3.13) 

, 

, 1.

 (3.1)  (3.8)  (3.13) 

: 

               yi = sin ( k t + K). (i, = 1, 2,... )         (3.14) 

. k

ik

. 

,   

                                 = 0.      (k  j)                                      (3.15) 

,  (3.12) 

                                        (M1 11 - k) +M2 12 2k  = 0 

                                   M1 21 + (M2 22 – k) 2k= 0.                                          (3.16) 

                                  2k =   2k                         (3.17)   

 (3.15) 

                                1 11 12 + 2 21 22  =  0                                                     (3.18) 

 3%. 

  (3.11)    11 = 12= 1 ,  : 

                             y1 = a11 sin ( 1t+ 1) + al2 sin ( 2t  + 2)

                         2 = 21 21 sin( 1t + 1 ) + a22 22 sin( 2t+ 2).         (3.19) 

. 

.  (3.17), 

               aik = ik a1k     (i, k = 1,2,... )                                 (3.20) 



. 

1, 11  a12,   (3.20) a21    a22 , 

y2. , 

. 

3.3. 

 3.3.1. , 

 ( . 3.2). 

. 

1. 1 2.

2. 1 = 1, 2 = 1, 

  1    2 ( . 3.3). 

3.   

11=   / , 

22=   / , 

21 = 21= / . 

4.  (3.9), (3.10)

= 



  



                                               1=   ,         2=   . 

:     1 + 2= 1 11+ 2 22

                    1 + 2 =           1 11+ 2 22 = (1,87+4,08)/EI = 42,67/EI. 

: 

                1= = =15,6 /  ,                 T1= =0,403 , 

                2= = =82,7 /  ,                  T2= =0,076 . 

5.  (3.13), (3.17): 

- : 

                    11= =1;        21= =- = - 9,384, 

- 

                  12= =1 ;       22= =-  = 0,102. 

 (3.18): 

0,4 1 1 + 0,4 (-9,384) 0,102 = - 0,001.  0,001/0,4 = 0,25% 

. 

6.  ( . 3.4). 

. , 1 a11 = 1 

2 21 = (-9,384 . 11),  «f1», 

( . 3.4, ). «f » , 

21 = -9,384. ,  « » 

« 1» ( ), «c1».

«f1», « 1» «c1» . 

« 1 »

 90°, . « 1 1» 

. «d», 

, « 1 1» 

. 1  12 =1 

2 22 =(0,102 .a12), «f2»

( . 3.4, ). «f » a22 =



0,102. , « » « 2»,  — 

« 2». «f2», « 2»  « 2»,

. 

« 2»  90°. « 2 2» 

.  «d», 

, « 2» « 2 2».

7.  (3.19) 

                          y1 = a11 sin( 1t+ 1) + al2 sin( 2t  + 2)

                         2 = -9,384 21  sin( 1  + ]) + 0,102 a22 sin( 2t+ 2)

8. 11, 12 1, 2 : 

t0=0,  y01 ,  y02 ,  01 ,  02 . 

1= a11 1cos( 1t + 1) + al 2 2 cos( 2t  + 2); 

02 =-9,384 11 1 cos( 1t  + ]) + 0,102a12 2cos( 2t+ 2); 

y01 = a11 sin 1 + al2 sin 2; 

02 = -9,384 11  sin 1 + 0,102a12 sin 2; 

01= a11 1 cos 1 + al 2 2 cos 2 ; 

02 =-9,384 11 1 cos 1 + 0,102a12 2 cos 2 . 

, : 

 a11= ;       a12=    

1=arctg ;       2=arctg . 

 3.3.2. , 

 (  .3.5). 

. 

1.

1 2.

2. P1 = 1, 2= 1, 

1 2 ( . 3.6). 

3.

11= / ,  22=   / ,  12 = 21= / .  

4.  (3.9),(3.10):





                         0; 

                                      1=   ,         2=   . 

     1 + 2= 1 11+ 2 22

                    1 + 2 =           1 11+ 2 22 = (259+512)/3EJ = 855,33/EJ. 

                   1= = =17,08 /   ,               T1= =0,37 c , 

                 2= = =85,7 /  ,                     T2= =0,073 . 

5.  (3.13), (3.17): 

- 

         11= =1;        21= =- =1,523, 

-

       12= =1;        22= =- =-0,328. 

 (3.18) 

2  1 1+ 4  1,523  (-0,328) = 0,0006.   0,0006/2 = = 0,032% . 

6.  ( . 3.7).

. , 1 a11 = 1 

2 21 = 1,523 11, « 1» «f1»,

1 . 

,  « » «d»

. , , 

« 1 1 » «d1 m1»  «c1» «d1»

«c1» «d1», , 



« 1 1» d1 m1».

 ( . 3.7). 

7.  (3.19) 

                            y1 = a11 sin ( 1t+ 1) + al2 sin ( 2t  + 2)

                            2 = 1,523 21  sin ( 1  + ]) – 0,328a22 sin ( 2t+ 2)

 3.3.3. , 

( . 3.8, 3.9). 

. 

 3.3.4. , -

 ( . 3.10).

3.4. 

. 

                 P( t )   =   sin t,   

                    (3.6)   (  = 1,2, ... )  

                         0,85 < / k < 1,15 ,                                  (3.21) 

, 

, . 

 « »

Pi (t) = i sin t, (i = 1,2, ... ) 

     [4]: 

1 11 + 2 12 + ...+ 81   + 1 = *
1p sin t ; 

1 i1 + 2 i2 + ...+ 8i   +  yi = *
i p sin t;                 (3.22) 

1 n1 + 2 n2 + ...+ 8n  + n  = *
np sin t , 

  *
ip=  — i  , 

, , 



 , (i=l, 2, ... ) t = 0.  (3.22)  







 (3.1)  (3.14) -  , 

 (3.22) .

, 

                                  

 (i = 1,2,... n).                                     (3.23) 

 (3.22), : 

                   (3.24) 

1, 2,.. An, 

. , 

 (3.22) : 

             (3.25) 

. 

 3.25 ,  «n» -

. 

3.5. 

, . , , 

 [4]: 

.                             (3.26) 

 (3.26) 

 (3.24), : 

                 (3.27)            

:   - . 

, 



   ,  –    . 

, , 

, : 

,                                 (3.28) 

 —

;  - i = 1, 

. 

, 

. .  

. 

, 

, , 

, 

  :   

, , 

     

,   ,     3%. 

3.6. 

 3.5.1. ( . 3.11, )

P(t)  = , ; ; 

=6 ,  . 

,

.

. 

1.         = 2       1 2

( . 3.11. ). 



  



2. 1 = 1,  2  = 1, 

1 2 ( . 3.12. , ). 

3. : 

; 

 ; 

. 

4.  (3.9), (3.10): 

                                                                   = 0,   . 

:  +  = ;  ;    .

: 

      

        

5.  (3.13), (3.17): 

- :  

                    11= =1;        21=  = - ; 

-

                   12= =1;        22= =-  

 (3.18): 

2. 1. 1 + 4 . 0,237 . (-2,107) = 0,002.   0,002/2 = 0,1% . 

6.  ( . 3.12, , ,). 

7.  (3.19): 

                            y1 = a11 sin ( 1t+ 1) + al2 sin ( 2t  + 2)

                            2 = 0,237 11  sin ( 1t  + 1) – 2,107a12 sin ( 2t+ 2).

8. : 

                            .





9.

   =6  ( . 3.13, ). 

10.

: 

11. : 

12.  (3.27):

                           

: 

                                      

13.                           

( . 3.13, , ).

14.

(3.28) ( . 3.13, ). 

15. : 

 ( . 3.13, ).

16.            



( . 3.13, ): 

N23 = N32 = 0;    N34 = -7,033 ;    N35 = 1,349 ,         

 Ng ( . 3.14, ). 

17.  (3.29) ( . 3.14, ): 

              -7,033 - 3,733 + 10,766 = 0; 

               7,349 - 6,0 - 1,349 = 0; 

               -7,349 .2 - 6,0 . 2 + 7,033 .3 + 3,733 . 1,5 = 0. 

 3.5.2.  ( . 3.14, ) 

, . 

, 

. 

. 

1.  n=2              

( . 3.14. ). 

       2. 1 = 1,  2  =  1, 

1 2 ( . 3.3). 

       3.  (  3.3.1): 

;      ;     . 

4. : 

        

        

5. 

 ( . 3.4):    11  =1;  21 = ;  12 =1;  22  =   

6. : 

                            y1 = a11 sin ( 1t+ 1) + al2 sin ( 2t  + 2)

                            2 = -9,384 11  sin ( 1t  + 1) + 0,102a12 sin ( 2t+ 2). 

     7. : 

                           .

8.    



  q =0,2 /   ( . 3.14, ). 



9. : 

    10.  : 

11. : 

                            

  :  

                                      

12.  

(3.28) ( . 3.14, ). 

13.   

  Qg  ( . 3.14, ). 

14.               

      Ng ( . 3.15, ). 

15.  (3.29)  ( . 3.15, ): 

              0,9398+0,2 . 6 – 2,14 = 0; 

               0,0988+1,888 -1,99 = 0; 

               -0,0988 . 2+1,888 . 5+0,2 . 6,3-2,14 . 6 = 0. 

16.  (3.24): 

  



 ( . 3.15. ). 

  



                y1 = a11 sin ( 1t+ 1) + al2 sin ( 2t  + 2)-0,0006241. sin ; 

                2 = -9,384 11  sin ( 1t  + 1) + 0,102a12 sin ( 2t+ 2)+0,01482. sin . 

 3.5.3. ( . 3.16, ; 3.17, )

(t) = P sin t, = 8 ,  = 0,9 1. 

Mg, Qg, Ng.  3.16  3.17. 

 3.5.4.  ( . 3.18, 3.19)

P(t)-PSin t, =10kH =0,8 )1. 

, 

. 

4. 

. 

 (

) 

. 

, , 

. , 

 ( )  ( ) 

. : 

; ; 

; . 

4.1. . 

: 

                                                                                                 (4.1)  

, 

 ( .4.1) 

: 

                                                                             (4.2) 



   - . 

, 
  , =0,  E  [5] 

                                    (4.3) 

, ,  

,  [5] 







2 .                                        (4.4)          

 (4.3)  (4.4) , 

: 

                                          (4.5) 

 (4.5) , 

. , , 

. 

.  (4.5) 

  m(x)   n    ,  I 

: 

                    (4.6)    

  - 

    

, 

,      .       

II : 

                            (4.7) 

 4.1.1. 

-  ( . 4.2). 

.

). : 

. 

,  (4.5):  

 ,



,   (4.5),  :     . 

, 
. 

).
 : 

. 

,  (4.7): 

,  (4.7), : 

) )  0,105%. 

. 

 4.1.2. 

 ( . 4.3). 

.  

         ,  (4.7), 

   ( . 4.3). 

  ,  : 





: 

. 

 4.1.3. 

 ( . 4.4) EI, l

-   m    

,   . 

.  

   . 

,  (4.5): 

 (4.5) 

:  

 4.1.4. 

 ( . 4.5), 



: 

-  « »:    

-  « »:    

-  « »:    

-  « »  « »:     .

:

      )    ;     )  ;     )  ;  

      )     ;       )   . 

4.2.  

  n

    (i=1,2,…n) ( . 4.6) , 

 ,  « ». 

 [5]: 

                                                                                          (4.8) 

   - , , 

. , 

E  [5], 

    

                                                                                           (4.10) 

. 

 (4.9)  (4.10), 





   – ;   - 

, ,   

   ;   - , 

  . 

 4.2.1. 

-  ( . 4.2). 

. 

)

:  

,  (4.11): 

        : 

:   

                  .  

 0,72% , 

 4.1.1 . 

) 

: . 

,  (4.11): 

        : 



: 

 1,11% , 

 4.1.1 . 

 4.2.2. 

 ( . 4.7). 

. 

           ,   

(4.11)  (4.12),   

  ( . 4.7). 

  ,  : 

: 

 4.1.2  1,05%. 

 «1»    «2», 

 3,13%,   

 4.2.3.

    ( .4.4)   m  



         . 

. 

).   

  . 

 (4.1): 

   . 

:  

,   

).  . : 

 4.2.4. 

 ( . 4.5), 

 (4.1.4), 

 « »    « »,  « »    « » 

 « ». 

:

      )    ;     )  ;     )  ;  

      )     ;       )   . 



4.3.  

, 

. 

   

    - ,  ( . 4.8 ). 

 ( . 4.8 ): 

- 

, ; 

- 

. 

, 

. 

 4.3.1. 

-  ( . 4.9). 

. 

 ( .4.9): 

. 

, 

 . 

 ( ) (3.9): 



: 

:  – 0,107%, 

 – 3,36%. 

 – 

       , 

,     .  

 0,62%. 

 4.3.2. 

 ( . 4.5,  « », « »  « »), 

 « »  « »  « ». 

:

      )    ;    

      )  ;    

      )  .  

4.4.  

, 

«n» 

, 

,   , . .: 

=0



  , : 

   - ,   x , 

. 

 4.4.1. 

-  ( . 4.10). 

.

 , 

  ( .4.10). 

,  (4.15): 

:  

 3,78%. 

 4.4.2. 

 ( . 4.3). 

.  

 , 

  : 



:         . 

 3,13%. 

 4.4.3. 

 ( . 4.4, 4.5). 

:

      . 4.4:       

     . 4.5:     )  ;    

                         )  ;    

 4.4.4.  , 

, 

. 4.8. , 4.11, 4.12. 






